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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
) e RE
(BFn 7 4E5)
= 1 99, 604, 226
BEBA AR T
= 1 88, 314, 105
HEBh R AL T

= 1 79, 786, 632
SN AR 9L B

m2 1, 383, 000 10. 39 14, 369, 370
SN ARl LU L (FEESMA V) - A1

O - 2 J

m2 359, 000 39. 06 14, 022, 540
R Tk

m2 1, 380, 000 10.5 14, 490, 000
R ANT)

m2 359, 000 23.6 8, 472, 400
TEHN

m2 1,273,000 7.5 9, 547, 500
FEA - o)

m2 991, 000 14. 86 14, 726, 260
TR (BEBHFRED) BER L=1.0

m2 157, 000 3.11 488, 270
TR (BEBHBRED) BEH 1.0<L=2.5

m2 116, 000 3.63 421, 080
TR (BEBHBRED) BEH 2.5<1L.<4.0

m2 205, 000 4.15 850, 750
TEH (BEBHBRED) BEH 4. 0<L.<6.0

m2 46, 600 4. 67 217, 622
TEH (BEBHBRED) I T

m2 467, 000 4. 67 2, 180, 890
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K BRI
= 1 2,729, 423
SN AR 9L B
m2 6, 500 10. 38 67, 470
SN ARl LU L (FEEMA V) - Afd1.
O - 2 J
m2 31, 600 39. 06 1,234, 296
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m2 31, 600 23.6 745, 760
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FEA - o)
m2 23, 600 14. 86 350, 696
TR (BEBHBRED) BEH 2.5<1L.<4.0
m2 1, 400 4.15 5,810
TR (BEBHFRED) BEH 4. 0<L.<6.0
m2 4, 600 4. 67 21,482
TR (BEBHFRED) B T
m2 17, 700 4. 67 82, 659
Wy
= 1 5, 798, 000
SRSy AU B« FK B (R L k)
t 223 26, 000 5, 798, 000
LERhARAE T
= 1 1,708, 451
CERAT
= 1 1,114, 293
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E CEREA) BER L=1.0

m2 600 3.11 1, 866
E GEREA) BEHI 1.0<L=2.5

m2 400 3.63 1,452
E GEREA) BEHD 2. 5<L=4.0

m2 200 4.15 830
E CE ) BEHN 4. 0<L=6.0

m2 1, 100 4. 67 5,137
E CEEAE) AT

m2 9, 800 4. 67 45, 766
W5y A E Gl A THR)

t 4 26, 000 104, 000

RARBRAR T

= 1 594, 158
oA - et A CNFTHE T 2 H)

m2 1, 000 64. 39 64, 390
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m2 500 160. 4 80, 200
HEFERGA

m2 1, 500 58. 64 87, 960
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PR T 1S e BCHE - P OB TIR)
m3 8 2, 450 19, 600
PR T 1S oS EECEUN g
m3 8 2, 450 19, 600
PR T 1S e BEHE - T (TR
m3 8 2,042 16, 336
PR T 1S H + BEHE R )
m3 4 1, 089 4, 356
PR T 1S 1 G ek
m3 4 1, 089 4, 356
PR T 1S e BEHE - T OFFITIR)
m3 8 1,770 14, 160
W5y e FEHE AT O\ T, B LT
WL SR T, T ER)
t 15 13, 600 204, 000
W5y e+ BEHE GO )
t 2 13, 600 27, 200
W5y 1 G A TR)
t 2 26, 000 52, 000
Ef L
= 1 8, 299, 302
BESRALER T
= 1 7,971, 460
TR BT AL BR I\ Tk
m2 435, 000 3.32 1, 444, 200
TR BT AL BR DA LT
m2 336, 000 3.32 1, 115, 520
TR BT AL BR SgeRg sk
m2 317, 000 3.32 1, 052, 440
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TR RESF AL BR I T
m2 494, 000 3.32 , 640, 080
TR RE SR AL BR HF T
m2 211, 000 3.32 700, 520
TR BE ST ALER () AR - AR O\ g TIR)
= 1 591, 600
TR BE ST ALER () AIRY - AR (AN LT Sak)
= 1 457, 000
TR BE ST ALER () AR - AR (Rl )
= 1 355, 100
TR BE ST ALER () AR - AR G EE TR)
= 1 321, 100
TR BE ST ALEE () AR - AR (FETIT )
= 1 185, 700
HEFSRE SRS (N J7408E) IRABEREY)
m3 10 10, 820 108, 200
BESRALER T
O\IE KB )
= 1 55, 842
WIBIE¥ER
A 1 24, 752 24, 752
Ny IRy (LIF%0. 13m3
] 3 6, 230 18, 690
LAY 2tFE R
IREFi 1 6, 000 6, 000
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R (% 15 Tk
m2 5 718 3, 590
R (% 150 ANT)
m2 5 1,531 7,655
EE EE T 100m2AT
m2 5 2,861 14, 305
+o 9 fEHE (e A 1) - FfSE
] 5 760 3, 800
KA - 0] T
= 1 307, 480
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